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. PART. s AMARKS ;100
Note : i) Answer all the qQuestions. il) Choose the most g PR

given four alternatives and write the option code an th: :':‘P"l!h answer from the

The HCF of numbers of "Tesponding answer.

bl ers of the form 2M ang 3n g 41 =14
b) 2

IFabc....arein G.Pthen B T avin ¢)3 d) 2™ an 30

a) Arith i
) Arithmetic progression. b) Geometric Progression c) Arithmetic progression an Geomet-

;C{m;'%(fgﬁg d) None of these
k (8,'6)' » b)) n_epresents an identify function then the value of a an b are respectively
TR o 2x2 b) (8, 8) c) (6, 8) d) (6, 6
koA X=and g(x)= 1/3x then fog Is. ' <

b) 2/3x2 2
The value of a and b if 4x4 andis ilny’

- 24x3 4 76x2 +ax +bisa

erfect
;1 100, 120 b) 10, 12 <) _pm.? msc? um&ﬁz, 10
3 Jx =9 then the value of x is ... a)3 b)9 )18 d)27
A)tgngent is perpendicular to the radiys at the \ '
a) Centre b} Point of contract :
_ . . c) infini '

The straight line given by the quation x = 11 is ) W o chere
a) parallel to x axis b) parallel to y axis €) passing through the orgin

d) passing through the point (0,11)
If AABC is an isosceles triangle with /(" =90° and AC = 5 cm, then AB is .

a) 2.5cm b) 5 ¢cm £) 10 cm d}5cm

The slope of the line which is perpendicular to 3 line joining the points (0,0} and (-8,8) is
a) -1 ; b) 1 A3 d)-8 :

If the given line y/2 = x - p is passess through the point (4, -4) then the value of Pis ...
a) -4 = b) -6 ¢) 0 d) 8

If (x-6) is the HCF of x2 - 2x - 24 and x2- kx - 6 then the value of ks .....

a)3 b) 5 c) b d)8

If x = atand and y = b sech then
a) y2/b? - x2/a2 = 1 ! b) x2/a2-y2/b? = 1
¢) x¥/a2 + y2/p2 = 1 | L

Euclid’s division lemma states that for positive integers a and b, there exist unique inte-
gers q and r such that a = bg+r, where r must satisfy
a)l<r<b b)0<r<b £)0<sr<bh d)o<r<h

: PART-11
Note : Answer any 10 questions. Question No.28 is compulsory. 10X2=20
Represent the function f = {(1, 2), (2,2), (3,2), (4, 3), (5, 4)} through (i) an arrow diagram
(ii) a table form (iii} a graph _
IfFf (x) = 2x -k, g(x) = x+1/2 show that fog = gof = x. | _
IfA = {1,3,5) B={2,3)thenshowthatn (AXB)=n(BXA)=n(A)Xn (8).
Find the greatest number that will divided 445 and 572 leaving remainders 4 and 5 respectively.
If 3+kq18 -k, 5k + 1 are in AP thenfind K. _ _

Compute x, such-that 104 =x (mod 10) -
Find the excluded value of the expression x+10/8x.
Determine the quadratic equations, whose sum and produ

respectively. ° . el e
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1440’ "
Find the square oot Of jg"six ,4 it .
Pt i o TR : & = 4 cm and area of ABC = 54em2p,
if ; ABC I 5i.r11llar%0 A DEF such that BC = 3cm, EF fing
the area of A DEF. 2
If @ and /i are the roots of x2 + 7x+10 = 0 find the value of a’ +dﬂ“- 2)
. : -1, 1) and (1,2).
Find the area of the triangle whose vertices are ( 37 a9 )
N+ cosd
(| HEOSY | sosecd + cotd
Prove that VJ] \‘ng\‘{’ L8 &
Find the rational form of the number I{:A?;'ﬁ—ﬁlﬂ -
’ 10X5=150
Note: Answer any 10 questions. Question No.42 is comp ulsory
47, x<-2
IF the function f : R --->R is defined by r(x)qi v | s then figd s values of
X = * "
Find the HCF of 396, 504, 636.
LetA = {x ¢ w/x <3} ,B = {xe N/l < S} and C = {2,5} verify that
AX(BNC)=(AXB)n (AXC) ‘
. ) , S(H-31(4)
1) £(4) i) f(-2) iii) £ (4) + 2f(1) iv) T .
Irf an A.P the sum of first n terms is szfg + 3n/2. Find the 17th term.
Discuss the nature of solutions of the following system of equation.
X+2y-2=5;x-y+z=-2,-5x-dy+z=-11 '
In a G.P the 9th term 32805 and 6th term is 1215. Find the 12th term.
State and prove the Thales theorem.
~~Find the area of the quadrilateral formed by the points (9 7 _E -
Find the square root of x‘gtzﬁ +42x2 - 36 + G.p #7006, 12).(,13) And (25, 4)
Without using pythagoras theorem show that the pai )
right angled triangle. AN ) anel (4,=7) form &
Ifcosg+sing = [3 cosf. Prove that 0s@-sing = [5sing
Iff(x) = x -1, g(x) = 3x+ 1 and'h (x) = ¥2 - ’
i [10.~2))and)é maf:; :rixt)h; < r;:ow tfhat (fog) oh = fo (goh) .
ufm,gh AAndE -5 0P AABC. Find the equation of the altitude
If the roots of the equation (c2-ab) x2
. 3 -2 (a2- v S
that either a=0 (or) a34bd4el = ke, (35-b) x + b2 -ac = g are real and equal. Prove
PART - '
:Jug: Answer all the questions, o
nstruct a triangle similar to ‘ ] 2X8 =
(Scale factor 6/5 > 1) . (?Jg‘)\'en triangle ABC with its sides of the triangle Aég
b) Draw a triangle ABC of base BC= 8 ¢m ~ 600
:Js;: tt:tw p = 4= 60" and the bisector of £ A4 Meets BCat
w e graph of = i
yo'§, mx}" 24, XYy >0, ‘USlﬂg the graph fing {') h )
b) Varshika draw 6 cirgles with diff . ¥ When x=3 and (i) x when
- the diameter ang erent sizes. Draw a graph
table and use it to i;nrcd"r ference (approximately relatgdllzzf feOr e donship betwee
Diamete;(x; ok he circumference of 3 drcle when jts ;I,‘;h Circle as shown in the
Circumference (y) cm : 2 3 meteris 6 cm,
31 6.2 5

10 Maths PAGE-2

Kindly Send me Your Key Answer {o Our email id - Padasalai.net@gmail.Com



